1-38 ® Find all solutions of the equation.

2.cosx+1=0
4.\/§sinx-—1=0
6. tanx+1=0

1. sinx—1=0
3. 2cosx—1=0
5. 2sinx+\/§=0
7.4cosx~1=90 B Zcosx=1=90
9, sec’x—2=10 '

10. cse2x—4 =0

1. cosx(2sinx +1)=0

12 secx(2cosx~ﬁ)=0

13, (tanx ++3){cosx + 2} =0

714,. {2cosx +\3)2sinx— 1) =0

15, cosxsinx — 2cosx =0

16, tanx sinx + sinx =0

17. 4cos’x —dcosx+1=0

18, 2sin’x —sinx—1=0 _
19, sin*x = 2sinx + 3 20, 3tan’x = tanx
21. sin’ = 4 — 2 cos™x
23, 2sin3x+ 1 =0
25. secdx—2=0

27. /3 sin 2x = cos 2x

22, 2cosx+smx—1
24. 2c052x+ 1=0
26. \/gtan3x+1=0

28. cos 3x = sin 3x

-29. cos—;—-—-l=0 30.251n§-+\/§=0

31. Lan%+\/-3.=0
32. sec%“—- cog% |
33. tan’x — Qtanx = 0

34, 3tan’x — 3tan’x —tanx+ } =0

35. 4sinxcosx+2sinx—2cosx—1=0
36. sin 2x = 2 tan 2x

" 37. cos® 2x — sin*2x =0

3B. secx — lanx = COS X

38~46 = Find all solutions of the equation in the interval

45. tan 3x + 1 = sec 3x
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[0,2m),

39, 2cos3x =1 .40, 3csex = 4
M. 25inxtanx —tanx =1 ~ 2 sinx

42. secxtanx — cosxcotx = sinx

43. tanx — 3cotx =0 44, 2 sin®x — cosx = 1
46, 3 sec’x + 4 cosx =7

47-54 m (a) Find all solutions of the equation. {b} Use a calcu-
lator to solve the equation in the intervai [0, 211-) correct to five
decimal places.

47. cosx = 0.4
49. secx—5=10

. 48, 2tanx = 13
50. 35inx-==7cosx.
51. 5sinfx~1=0
52. 25in2x —cosx =0
53. 3sin*x — T7sinx+ 2=0
54. tan*x — 13 tan’x + 36 = 0

55-58 w Graph f anid g on the same axes, and ﬁnd their points

* of intersection.

55. flx}=3cosx+1, gla)=cosx—1."
56. flx} =sin2x, g{x) =2sin2x+1

57. ) =twnx gl) =B

58. flx) =sinx— 1, g{x)=cosx

59. If a projectile is fired with velocity u, at an angle 6, then its
range, the horizontal distance it travels (in fecl). is modeled
by the function .

R(8) = 12 sin 2‘6
P 32

(See page 804.} If vy = 2200 fi/s, what angle should be
chosen in order for the projectile to hit a target on the
ground 5000 ft away?
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